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= = 4 == | Fmh o0 jjo)jq§g X 4 ‘Fﬁn“ﬁb\?BONKIF B jJO)jt%é X 4 B2& | Limhonkks ﬁwk%é X 4 Limhontts | 5 ﬂ@i%é
(m) (m) (kN/m) EE B (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
; 100kN/mM#Z#B% % - -~ -|[3mZEEBR S -~ - -| 100kN/MZ#BZ % - ~ -|3mEBZ D ~ -
znLs 1.00 | 0.00 ~ 4.73 58.90 | =S | 000 ~ 473 1.80 9.65 Fhn s 1.00 | 5.00 ~ 56.00 5890 | =ns | 5,00 ~ 5.00)] 1.80 9.65
2 100kN/mM%Z#BZ % ~ -|3mEBZD ~ -| 100kN/M%#BZ% ~ -|3mE#BZD ~
Zh s 1.00 | 000 ~ 548 68.38 | #hust 000 ~ 548|1.75 9.36 LS 1.00 | 5.00 ~ 6.00 68.38 | =nLs | 500 ~ 6.00|1.75 9.56
3 100kN/m#Zi#BZ2% | 1.00 | 000 ~ 233 13627 |3mEBZ5 ~ -| 100kN/m%#BZ5 | 1.00 | 1058 ~ 1982 136.27 |3mZEBZ% ~
Zhn s 1.00 | 233 ~ 1011 100.00 | EnLS | 0.00 ~ 1011|243 13.01 zh s 1.00 | 5.00 ~ 1058 100.00 | =N | .00 ~ 1982|243 13.01
4 100kN/m%Z#BZ % ~ -|3mEBZD ~ -| 100kN/M%#BZ % ~ -|3mE#ZD ~
Zhn s 1.00 | 0.00 ~ 7.64 97.88 | #hs | 000 ~ 764|205 10.96 zh s 1.00 | 5.00 ~ 1059 97.88 | #nLSY | 5,00 ~ 1059 | 2.05 10.96
5 100kN/mM%Z#BZ % ~ -|3mE#BZD ~ -| 100kN/M%#BZ% ~ -|3mEBZD ~
Zh s 1.00 | 0.00 ~ 7.76 99.62 | =nLs | ooo ~ 776|227 12.16 Zh st 1.00 | 5.00 ~ 10.60 99.62 | =nLs | 5,00 ~ 1060] 227 12.16
g 100kN/mM%Z#BZ % ~ -|3mEBZD ~ -| 100kN/M%#BZ % ~ -|3mE#BZD ~
Zh s 1.00 | 0.00 ~ 751 96.07 | s | 000 ~ 751|246 13.16 zh st 1.00 | 5.00 ~ 1109 96.07 | NS | 5,00 ~ 11.09| 2.46 13.16
7 100kN/m#%#BZ % ~ -|3mEEZD ~ -| 100kN/m%H#BZ % ~ -[3mEEZS ~
zh s 1.00 | 0.00 ~ 4.58 57.08 | Fhs | 0.00 ~ 458|210 11.22 LS 1.00 | 5.00 ~ 6.00 57.08 | #nLSY | 5,00 ~ 6.00|210 11.22
g 100kN/m#%#BZ % ~ -|3mEEZD ~ -| 100kN/m%H#BZ % ~ -[3mEEZS ~
TN LS 1.00 | 0.00 ~ 4.56 56.82 | FhLs | 0.00 ~ 4.56| 1.90 10.15 LS 1.00 | 5.00 ~ 5.00 56.82 | TS | 500 ~ 5.00 | 1.90 10.15
100kN/m#%#B 2 % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
zh s ~ zhst ~ zhLs ~ zhLsn ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEEZD ~
zh s ~ zhs ~ zhLs ~ zhLsn ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
zhn s ~ zhst ~ zhLs ~ zhLsn ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zn LS ~ ZThLLS ~ LS ~ Zhn Lot ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zn LS ~ ZThLLs ~ LS ~ Zhn Lot ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zn LS ~ ZThLLsh ~ LS ~ Zhn st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh s ~ Zh LS ~ Zh LS ~ Zh s ~
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